Maths 5 15. 8cm —31mm =

Section A: (Don’t forget units!) 16. 15m — 104cm =

1. 14cm + 23cm = 17.22cm + 38mm =

2.9mm +28mm = 18. 28m - 205cm =
3.45m-32m=

4. 58mm —19mm = Section D:

5.34cm +42cm + 25cm = 19. 13cm 5mm + 14cm 7mm =
6.103m—-47m = 20. 28m 27cm + 15m 35cm =

21.19cm 2mm —7cm 9mm =

Section B: 22.52m 51cm —14m 16cm =
7.3m 12cm + 2m 24cm = 23. 14cm 6mm + 17cm 8mm =
8.4cm 3mm + 2cm 6mm = 24. 31m 45cm — 12m 66cm =

9.17cm 5mm —5cm 2mm =

10. 26m 68cm — 13m 45cm = Section E:
11. 36cm 4mm + 15cm 5mm = 25.19cm + ? =41cm
12.54m 43cm—-17m 11lcm = 26.12m 34cm + ? = 29m 62cm

27.52cm —? =15cm

Section C: 28.3m 10cm —1m 21cm =
13. 10cm + 14mm = 29. 23m 14cm —6m 27cm =
14. 4m + 122cm = 30. 38cm 2mm —? = 9cm 3mm

Mastery — You may want to draw a picture to help you answer the following questions.

1. The trainis 36m long. A coach is 7m shorter than a train. How long is the coach?

2. Atrainis 8m longer than a coach. The train is 35m long. How long is the coach?

3. Acoachis three times as long as a car. A train is 650cm longer than a coach. The train is
36.5m long. How long is the car?



